M EMELIY Gromormics Code to (749

Set No. 1 Question Booklet No,

17P/309/30(i)

(To be filled up by the candidate by blue/black ball-point pen)

Roll No.

Roll No, (Write the digits in words) ...isiin aa‘} ............. ; ”'
Serial No. of OMR Answer Sheet ............ wasssrmssrssssoeciommes o e
Day and Date ....... S e R R e i { Signature of Invigilator )

INSTRUCTIONS TO CANDIDATES

(Use only blue/black ball-point pen in the space above and on both sides of the Answer Sheet)

1. Within 30 minutes of the issue of the Question Booklet, check the Q_ucs_lion _Bquk tet to ensure that it
contains all the pages in correct sequence and that no page/question is missing. In case of faulty
Question Booklet bring it to the notice of the Superintendent/Invigilators immediately to obtain a
fresh Question Booklet, '

2. Do not bring any loose paper. written or blank, inside the Examination Hall excepf the Admit Card
without its envelope.

3. A separate Answer Sheet is given. It should not be folded or mutilated. A second Answer Sheer
shall not be provided. Only the Answer Sheet will be evaluated. |

4, Write vour Roll Number and Scrial Number of the Answer Sheet by pen in the space provided
above.

S. On the front page of the Answer Sheet, write by pen your Roll Number in the space provided at
the top and by darkening the circles at the bottorn. Aiso, wherever applicable, write the Question
Booklet Number and the Set Number in appropriate places. ;

6. No overwriting is allowed in the entries of Roil No., Question Booklet no. and Set no. (if any)
on OMR sheet and Roll No. and OMR sheet no. on the Question Booklet.

7. Any change in the aforesaid entries is to be verified by the invigilator, otherwise it will be taken
as unfairmeans.

8. Each question in this Booklet is followed by four alternative answers. For each question, you
are to record the correct option on the Answer Sheet by darkening the appropriate c_:rc:'e in the
corresponding row of the Answer Sheet, by pen as mentioned in the guidelines given on the
first page of the Answer Sheet, ‘

9. For cach question, darken only one circle on the Answer Sheet. If you darken more than one circle
or darken a circle partially, the answer will be treated as incorrect.

10. Note that the answer once filled in ink cannot be changed. If you do not wish to aitempi a
question. leave all the circles in the corresponding row blank (such question will be awarded
zero warks),

11. For rough work, use the inner back page of the title cover and the blank page at the end of tius
Booklet.

12. Deposit only OMR Answer Sheet at the end of the Test.
13. You are not permitted to leave the Examination Hall uati] the end of the Test.

14. If a candidate attempts to use any form of unfair means. he/she shall be liable to such punishment a«
the Liniversity may determine and impose on him/her.

Total No. of Printed Pages : 48 (3T R fd & At e v8 W g T By

SEAL

AN,

[ ]
gcollegedunlaa
India’s largest Student Review Platform

—



17P/309/30(i)

ROUGH WORK
% =

[ ]
gcollegedumaa
India’s largest Student Review Platform

el



MA- Eﬁmcﬁz; 52&“““““‘3”h”*“63€f)

17P/309/30(i)
No. of Questions : 120
U W HEAT : 120
Time : 2 Hours Full Marks : 360
qug : 2 que E’ng" 360

Note : (1) Attempt as many questions as you can. Each question carries 3

(Three) marks. One mark will be deducted Jor each incorrect

answer. Zero mark will be awarded for each unattempted
question.

mﬁmgaﬂﬁsﬁaﬂﬁﬂmaﬁlnﬁzﬁmﬁa(ﬁm
SH B ¥ gEF THT FAC F R 0F HH FEr T
TAH AT W B WTiE g BN

(2) If more than one alternative answers seem to be approximate to
the correct answer, choose the closest one.

IR aFfeeh AHRaE I Gdt IR B Fwe sdT &, at Fwea
98l 397 T

N
{ 01." National Income is the :
1 L
et (1) Net National Product at market price
(2) Net National Product at factor cost
(3) Net Domestic Product at market price

(4) Net domestic Product at factor cost

T e ®

(1) IR I WX & T I9E
(2) *rFE GFeY W gE T IE
(3) IS I X & washt Iwqre
(4) FHT TR qY g w@Rs I

3 P.T.0.

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



17P/309/30(i)

02. What is the value of goods and services produced in a country within

03.

a year called ?

(1} National Income at factor cost

{2) Net National Output

{3) Net National Product at market price

(¢) Gross National Product at market price

fpaft 291 7w ad & ofiay feelt awg & @i of sut |ida =1

45 T Fed &

(1) #H9d TS & e 97 usfm s
(2) Y AT AITYL

(3) ATMT Yoo Y g5 W=E I

(4) AT T 97 debdd LY MR

What does a devaluation of a currency mean ?
(1) Decrease in the internal value of moncy
(2) Decrease in the external value of money
(3) Increase in the internal value of money

(4] Increase in the external value of money

qal & TEAARET & P oty § 7
(1) Hel il SArareE HEG ol
(2) HET #l Fedl €md FH S
(3) BT &l ST AT FEA
(4] HET @l el HEG ASH

-
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04.

05.

06.

17P/309/30(i)

To get the Net National Product, we deduct what from Gross National
Product ?

(1} Direct taxes (2) Indirect taxes
(3) Depreciation (4) Interim payments

gggﬂa%ﬂa:ﬁansnaiﬁrﬁi%i%ﬁtsq=Haﬁrtm§nraana:ﬁznnsﬁnﬁ

(1) Yee FHL & (2) HUTGEH HT Fi
(3) BT i (4) ST=IE YA

Deflation is ;

(1) Deficit budget

(2) Reduction in taxation

(3) Contraction in the volume of money
(4) Decline in price level

eI 8

(1) 91 & T

(2) U 7 ge /a0 w ge
(3) 21 % H@E@r § GgHEA
(4) T w7 ¥ frgge

Who is credited with bringing the term "The invisible hand" in
€conomics :

(1} Adam Smith (2) John Maynard Keynes
(3) F. Hayek (4) Samuelson

AU § “oged B = F WY B AT RN T 2
(1} ©gH fey (2) S5 HEAE F9

(3) U%F. 8UF (4) FygeaT

5 PT.0.
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07. Macroeconomics is a study of economics that deals with which four
major factors :

(1] Households, firms, government, demand & supply

(2) Houschelds, {irms, government, external sector

(3) Firms, government, free market, regulations

(4) Households, firms, government

e TR B S Adred & fA =i g Fe e Asad
fepaT ST ®

(1) uitarz, w", §TEre, 501 AT g &

(2) 9@ER, HH, TEHE, S TS FH

(3) wH, AvER, o Ay, FEAEf @0

(4) aftar, %9, TIHT FH

08. When did the Great Depression hii the U. 5. 7

g. Ud. H gEA /e SEEE &d TEA gl -
(1) 2007 (2) 1929
(3) 1936 (4) 2001

09. Consider the following statements

(1) In a capitalist economy, there is private ownership of means of
production,

(2} In a communist cconomy, there is maximum role of the
government.

(3) In a free market economy, there is maximum role of the
government.

Which of the above three statement is/are true ?
{1y Only ! and 2 (2) Only 2and 3
(3) Only 1 and 3 (4) Only 3

gcollegeduniaa
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11.
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FrfeEd o9 97 g i

(i) goiardl erefeaten # Iwaral 9T Nq-wewrd AT A Gy @
T BT ®

(2) \rIEEl dagen ¥ fteraT Hd AR @ & &

(3) HaT Fqem Fdgryr # Afar & geh H1 e ¢ |

a5 FuET F PE-Ar FYUF 99 & 7

(1) Pad 1 oF 2
(2) Had 2 TF 3
(3) Fas | T 3
(4) Ha: 3

The number of times a unit money exchanges hands during a unit
period of time i1s known as :

(1) Velocity of circulation of money

(2) Speed of circulation of money

(3) Momentum of circulation of money
(4) Count of circulation of money

o aa w9a & 7eq 7 uss g yzr R endf & a2
e, 2 T Fed £ | .

(1) &1 & 9feE=oT & a3
(2) H&1 & uftdaer # iy
(3) AT F 9REEReT 1 @
(4) H&T & uftEETer #t fed

When the exchange rate is determined by the market forces of demand
and supply, it is known as :

(1) Real exchange rate (2) Nominal exchange rate
(3) Floating exchange rate (4) Fixed exchange rate

7 P.T.0.
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12.

13.

TR AT & AR I amgfd wRet & snyre 9y, fafamm &3 w ue
gd ar IH Feq 2 -

(1) grafas B or
(2, AFEE g1 (g 27
(3) e faty =z
(4) &Y FIwmg a3

Which of the following is the basic characteristic of oligopoly ?
(1) A few sellers, on¢ buyer {2) A few sellers, many buyers

(3) A few sellers, few buvers {4) Many sellers, few buyers

Fr=feias 4 4 semfasr # gea Bodwm 7 & 7
(1} 3B [ahidl Ud QR B
(2) HB faper Td 7= Fan
(3) A fEhar od HB Ha
(4) A% e oF F{B Far

What happens to Marginal Cost (MC) when Average Cost (AC) increases ?
(i] MC is below AC (2) MC isabove TC

(3] MC is above AC (4) MC is equal to AC

e HAET HiEal (AC) H ggiadr &, at FmiE gedi (MC) 9T @ 3163
T2 7

(1] MC,AC & S Ia SRrT |

(2) MC, TC 3 ST 9a F1E |

(3} MC, AC &% H9T =il Sma |

(4) MC, AC & F{@a< &l s |

gcollegeduniaa

el



17P/309/30(i)

14. What are the costs which vary with output called ?

(1] Overhead costs (2) Indirect costs
(3) Prime cost (4) Fixed cost
98 HH-Ul BT B, S WHTYgE B @ Fowedt & 7
(1) S8 Fma (2) AU FHd
(3) WY P (4) TR FHd

15. Other things being equal, what causes a decrease in demand ?
(1) Rise in the price of substitute
(2) Fall in the price of commaedity
(3) Rise in the income of the consumer
(4) Rise in the price of the commodity

I FEH F GEA BN G, A6 & fRrae @ g weer @ ¥
(1) faeedt @t Smal ¥ @il

(2) & F HiEAa F Frerae

(3) IUTFT B A F Foled

(4) a&g = HEAl 7 FIAd

16. The law of demand states that :
(1} Demand rises with fall in income
(2) When income and price rises, the demand also rises
(3) When price falls, demand rises
(4) When price rises, demand rises

o1 0 Ey Hear o
(1) et & firEe & "y 907 godr 2
(2) 9 el ot g gEar B, |eT S sedr 2

(3) 79 ®Himd et 8, 9771 ged @
(4) T4 HAT FEdl &, BT Too] 2

g PITIOI

[ ]
gcollegedumas
India’s largest Student Review Platform

el



17P/309/30(i)

17. A firm is said to be of optimum size when :

18.

19.

(1} Average Total Cost is at minimum
(2) Marginal Cost is al 2 minimum
(37 MC = MR

(4} The {irm is maximising its profit

TH BH U AT Fr FY ol &, T4
(1} 399 |9 79 999 9 &7 9T o 8
(2) T ge¥ HE9 &1 W 9¥ o 8
(3) MC-MR

(4) ®H 37I9 192 F Gl 8

A market in which there is only one seller of a good is known as ¢

(1) Monopoly (2] Monopsony

{3) Duopoly (4) Perlectly competitive
qZ QA T Had @ &t Fashar 81 S o B o

(1) UehIfae?

(2)  HaT-UFIfEeE
(3) aafu®

(4)  yoi-ufereafs

If the demand for a good is inelastic, an increase in its price will cause
the total expenditure of the consumers of the good to ;

(1) Increase (2) Decrease
(3) Remains the sarne (4) Become zero

iz Pl geg 0 707 RYT 81 dt, 9% B 99 B qe 9T ITr
T FA =G U7 F4 AN 92

i) azm (2) =em
(3) FIE 9GNEF T T2 (4) Y4 B HHaT B
10
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20. The producer's demand for a factor of production is governed by the
_of that factor, *

(1) Pri{:-e (2) Marginal productivity

{3)  Availability (4) Profitability

R IR F S SaeE ST ... FCR 9T HET H7ar 2
(1) g (2) HHE IqE

(3) IYTEEET (4) @9

/ 21.‘l The horizontal demand curve parallel to x-axis im plies that the elasticity
../ ofdemand is: *

(1) Inflinite (2) Equal to one

{3) Relatively inelastic (4) Relatively elastic

TG AT AT g% CRT-oT § WA & oY at |iT @ oy A
(1) =< (2) TFH P AT

(3) IMmaETHE frear (4) SMETHT @rHAT

22. The supply of a good refers to
(1) Stock available for sale
{(2) Total stock in the warehouse
(3} Actual Production of the good

(4} Quantity of the good offered for sale at a particular price per
unit of time

J&] B Myl mefdtq sh ®

(1) Tt & R ser Iuerear

(2) ®R B9 F U FH

(3) a&] = arafl® IqRe

(4) I B A= REe & R o Fifvea 9w ww @

11 P.T.0.
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23. The cost of one thing in terms of the alternative given up is calied :
(1} Real cost (2) Production cost
(3] Physical cost (4} Opportunity cost

(1) = @Id /hmHa
(2) JEA FHHT

(3} i HHT /T
(4) FFETTTH YA

24. An economy is at the take - off stage on its path of economic
development when it @

(1) Becomes stagnant (2) Begins steady growth

3! Is liberalized {4) Gets maximum foreign aid
e I7TTH [ B TRA U 9T ST =LO7 i TSl Hd €,
od 98

(1) "€ € A @

(2) FAwry & geIa H

(3} g & B

i4) FIcafres fage weEar & o

25. Census in India is being held regularly after every :

(1) 6 years (2) 8 years
(3] 10 years (4] 12 ycars
qrid H TV & ATAT Bhaq a9 ars R @ 2 o
(1) & dm (2) 8 ¥
(3 10 |HI& (4) 12 aE
12
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26.

27.

28.

17P/309/30(i)

What does the NSDL stand for ?

(1} National Securities Development Limited
(2] Natural Securities Depaository Limited
(3] National Securities Depository Limited
{4] National Safety Development Limited

7. CF. €. . 3 of =y §
(1) 9= "I Sgagde Rifrs
2) g ARG Bufed s
(3) e GRS fEufrsd Rifree
(4) AT AT Saeun Rifade

Economic planning is an essential feature of -

(1) Capitalist econamy (2) Socialist economy
{3) Mixed economy (4) Dual economy
STl & W@ 1 eyl T ¥
(1) gofrardr orefeggzen
(2) THEE] oTefegae
(3) Mf2a arefeageer
(4) fa sretegaeen
Development means economic growth with :
(1) Price stability (2} Social change
(3) Inflation (4) Deflation
faspre &1 a1ef orelegazen & arr Frwm & @ L
(1) g & Rezar
(2) w@HEMS TG
(3) HETERI
(4) ITTERIfE
13 P.T.O.
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29, The concept of PQLI (Physical Quality of Life Index) was developec by :
(1) Morris D Morris
(2] UNO
(31 UNDP

(4) Oxford Poverty and Human Development Initiative

i, 9. uw. g, (o Faee! AAle wWEh $29) & fapr e

oY :
(1) #ivE 2 A
(2} F. TH. .

(3) 3. oF. ¥ W.
(4) SFAEIS qEel uvg g SadgHe gHItRTEE

30. The concept of HDI was popularized by :

(1} Morris D Morris (2) Adam Smith

(3] Keynes (4) Mahbub Ul Haq
UH. B, 3. & HEe9Al H ArbsEadal e

(1) w3 oARE g (2) w=® BT g

(3) I & (4) Hegd 3d &% =

31. Which of the following is not an indicator of economically

underdeveloped countries ?

(1) Low per capita income

(2] High death - rate

(3} Low proportion of labour force in the primary sector

{4) High level of illiteracy

14
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33.
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jﬁﬁmmﬁaﬂﬁiﬁfﬁa%ﬁﬂ,ﬁﬁﬁﬂﬁﬁﬁﬁwﬁm&fﬁﬁm

£ .

(1) 9 afr st s

(2) 3=9 gy |

(3) urafeeh & # word W wen § manT
(4) I SAIUET FHT WY

Who coined the phrase 'Demonstration Effect’ ?

(1} W.W. Rostow (2) James Duessenberry
(3) R. Nurkse (4) J. K. Galbraith
‘Ta 9 F fREe Frefe R
(1) ==7. == =\
(2) S FEAE
(3) HIT. JHH
(4) . B. THAY
According to the Ricardian theory, savings are provided by :
(1) Labourers (2) Capitalists
(3) Landlords (4) Banks
Renfés fyeia & orgar, a=a wem & ot &
(1) wogd @
(2) geigfa |
(3)  y-9iferant /oTfiFRRE |
(4) = |
15 P.T.O.
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34. Unemployment created by some long - term change in demand or

35.

36.

technological conditions in an economy 1s known as :
(1} Frictional unemployment (2) Cyclical unemployment
(3) Structural unemployment  (4) Disguised unemployment

srfis TRT g% A0S B § ge arEiemgwen & A 3N
g 7 ufEds &t 2, T8 T

(1) Pr=meas e (2} =EE T
(3) TCEIATHESD AL (4) g e

Arrange the following Rostow's stages of economic growth in their
proper sequence :- 1. Traditional society; II. Take-off-stage; III. Age of
mass consumption; IV, Drive to maturity :

Wﬁﬁl@aamm%mm%wﬁﬁﬁ@a#awmﬁm
S0 ;1 qreiis G|, - SRS S1E, 11-99-=9d &1 35 /899,
IV-qg==adT

(1) LIV, I (2} LIL1L,TV
(3) I, LIV, III (4) I, LI, IV

The second stage of the theory of demographic transition is
characterised by :

(1) High birth - rate and high death - rate

(2) High birth - rate and falling death - rate
(3) Low birth - rate and low death - rate

(4] Falling birth - rate and falling death - rate

SEIREHE dwmav fagia & gat 9o F1 G 8
(1) J=a T9-3X W@ d=d G-

(2) 37 Fd9-3¥ Ud gof-a7 | [ude

(3) = s99-aX w@ T gg-SX

(4) -3¢ A PrEe oF gog-a7 # fode

16
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37. When did Brexit happen ?

38.

39.

(l) June 23, 2016 {2) June 20, 2016
(3} June 25, 2016 (4) June 22, 2016
e w9 afeq gan 7

(1) Si9 23, 2016 (2) S 20, 2016
(3] TH 25,2016 (4) SIT 22, 2016

Total Economic value is composed of :

{1) Existence Value, Option value and Use value
{(2) Only Non - use value

(3) Option Value

(4) Correction Value

Which of the following is often referred to as the 'hedonic price’ method
for valuing environmental assets ?

(1) Using linkages between variations in house prices and
geographical proximity to an environmental asset

(2} Using 'willingness to pay’ to value an environmental asset

(3) Using travel costs to estimate the value of an environmental
asset

(4) Using 'existence value' to estimate the value of an environmental
asset

17 P.T.O.
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qgtaceia wmafy &) #ma & g o & R, fratatee § | S
“grETeT A T I M el ®

(1) Ty et F - wer wd o @ St B oA
(2) walgroig @=fy i g @ § $& HEeT |

(3] IE-VH & YW 9 4AEeE g B 9 AT |

(4) @21 g2 dFAl & WU 9L GO §R B O A

40. The name given to a tax which makes the firm pay for all the pollution

damage 1t creates with each extra unit of output :

(1) Pigouvian (2) Existence valuc

(3) First Law of Thermodynamics (4) Tradeabie permits

39 HT & A9 Faigd, 1 [HE w6 g gia gihe R gguen
THFE “h T fEa S §

(1) e (2) =G g BAT

(3) HTEEATNEE & 9™ FgH (4) 909 93ie

41. The value we place on an asset now as regards functions which might

be exploited sometime in the future :
{1} Tradeabile permits

{2) First Law of Thermodynamics
(3) Coase Theorem

(4} Option value

18
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awﬁraﬁﬁna’fﬁm%%%w.uﬁm%mﬁﬁ@wmuﬁm

(1) TR yifre (2) HtsANYaS & yoy faam
(3) HY 4Ry (4} faeeg FHae

Establishes the principle that energy can neither be created nor

destroyed.
(1) First Law of Thermodynamics (2) Coase Theorem

(3) Existence value {(4) Tradeable permits

‘maﬂmwm%ﬁﬁwﬂmﬂwﬁ'sﬂﬁmﬁaﬁ
ATEGT AT & -

(1) oHE=YF & 999 gy
(2) AR (fewi)

(3) FHAT B FE&T

(4) ORI qifie

The major pollutant from automobile exhaust is

AR | 8N /T yer wgEe B
(1) NO (2) €O
(3) SO, (4) Soot

19 P.T.O.
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44. Which population growth rate larger or smaller 1s likely to add relatively

45.

more to younger age population (youth effect on size of labour force)

?
(1) Larger
(2) Smaller

(3] Uncertain

(4) Population growth rate does not affect the age structure of

population

R TTHE &1 [TE &Y de1 T BIeT 99 W TFd 8 Bidl 39 i
e # Mg A (gaed B oan ofdd § HAEET H gEE) 7

(1) TS =20
(2) wfewm BT
(3) & aEadg &

(4) SHEE e a7 I SEEEE] 39 O & HE 99E e

qgar

The "tragedy of commons" was put forth by :
(1) Herman Daly (2) Simon Kuznets

(3) Garrett Hardin (4) John Rawis

“HIFTR B AT I M G T
(1) BTAA S&1 & (2) AEHEA R &l
(3p e FET @ (4) S TEeE &1

20
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46. The linkage between population growth and food supply was firstly

47.

brought into focus by
(1) J. M. Keynes (2) Thomas R. Malthus
(3) J. 8. Mill {(4) Bertin Ohlin

TAHEAT fawE AR e oMy # wen et 9 wdgey wEer
LA | [

(1) . o9, FH9 7

(2) UHE 7. 999H E
(3) 1. uH. e 3

(4) =T onwferw am

According to Kuznets's curve, what happens to environmental damage

when economic growth increases ?
(1) Increases

(2) Decreases

{3) No change

(4) Firstly increases and then decreases

AT & STYER, 59 wdarea G a3 agdr , @t gatawor av
T 9N g2ar § 7

(1) s@ar & (2) =Tar 2
(3) I3 IAT & (4) 9B Fgdl B, T gear 2

21 P.T.O.
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48. Who formulated the principle of maximum social advantage ?

1) Dalton {2) Findlay Shiras
(3) Hicks (4) Adam Smith
(1) =Tee A 2) fr=a fama
(3] feam A (4) usy feRe |
49. A public good is :
(1} Nen - rival (2) Excludable
(3) Divisible (4) Limited by access
SAfEd €
(1) i’l"—qﬁ‘@d*t (2) afespT
(3) d<1 B (4) qHE/9gA BT i

50. The book "The theory of Public Finance” is writien by :

(1} Dalton (2) Mill

(3] Pigou (4) R. A. Musgrave

FrEAtE B o faeid gaE & g s €

(1) BeH (2) ==

(3) 9Fg (4) 9. B. gEAG
51. Which of the following is not a direct tax ?

(1] Personal Income Tax (2) Service Tax

(3) Wealth Tax (4) Corporate Income Tax

= § & HF I8 &2 el 8 7

(1) ST H7Y F (2) &a1 T

(3) =i FHT (4) T SgEHT

22
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53.

54.

S5.

17P/309/30(i)

GST is tend to replace :

(1] Income Tax (2) Wealth Tax

(3) All indirect taxes (4) All direct taxes
. qF. &, @ arg Rrar war

(1) 3GFT & Fgaat  (2) T BT B g

(3) A AU FT B T (4) T THH FT B a=er

"Law of the Increase of state activities” is related to the name of which
of the following scholars :

(1) Colin Clark (2) Peacock - Wiseman
(3) Musgrave (4) Adolph Wagner
“TFEl TG F Gga Beammendl & Fraw” @ 99T #r A9 o ©
(1) @ifer s 2) fFE-s=EET

(3) HEIG (4) TSR JTEY
Income tax rate in India is

(1} Progressive {2) Regressive

(3) Degressive (4) Proportional

T § EGHT F 2T B

(1) S (2) STFTH /99T
(3) =29 gsh (4) FTIUTE

People earning under bracket Rs. 2.5 lakh to Rs. 5 lakh would be
taxed at which rate according to budget, 2017 ?

i g JRRT 2.5 1 U § STATT WU IH FAET L & a9 2017
P 9E & FFAR (A T Fr g2 ?

(1) 10% (2) 15%
(3) 5% (4) 20%

23 . 1.0.
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56. Visibie and invisible items of debit and credit are the part of :
{1} Export - Import Policy (2) Balance of Trade
(3) Balance of Payment (4) Annual Budget

ST BT SNT TR H1 Ue OF ST AT 8
(1) Ara-faata i (2) AT & T
(3) YT ;W HGS- (4) arfdE Fove

57. Tarapore Committee submitted its report on "Full Convertibility of
Rupee’ 1n :

(1) Capital Account
(2} Current Account
(3) Both in Capital and Current Account

(4) Saving Account

TR wiEf F “Yat ) Fater aRacaefierr” o7 o1 Rule s &

(1) T @ A
(2) =g @ H
(3) 9ot AT T a4 @l 3 R A
(4) 999 @ o

58. Nauional Income in India is estimated by :
{1) Central Statistical Organisation
(2} Indian Statistical Organisation
(2) Finance Commission

(4) Nit1 Aavog

24
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61.
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wRa ¥ asfig s sqeiaa #i oo § o
(1) #2Z™ gy g9 2T
(2) WA SgPEa §Ta9 2

(3) e smamr am

(4) T g am

Inflation is measured in [ndia on the basis of which index ?
(1) Wholesale Price Index (2) Consumer Price Index
(3) Market forces (4) Retail Price Index

A d Ereniia e geeis B R 93 A ot &
(1) = HoF gaHid

(2) SUHET Y YIAHID

(3) WY & Y

(4) G g™ AR
Liberalisation process in India started after :

ST i wfar ARd J g% g
(1) 1981 (2) 1995
(3) 1991 (4) 1996

Fiscal policy refers to :

(1} Government's ability to regulate the functioning of financial
markets

(2) Spending and taxing policies used by government to influence
the level of economic

(3) Activities
(4] Techniques used by firms to reduce its tax liability

25 P.T.0.
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62.

63.

64.

e iy waldta &t §
(1) Tof Fot @ ge & o g3 & argar @i

(2] SdEeer & TGN H ged & el gepie arn e Faet
il

(3) TepaT-—=Faal =l
(4) ®H & BT B A FH B @ B Y T Frd

il the government wants to try to reduce unemployment, it could
spending and / or taxes should be

(1) Decrease; increased (2] Increase; increased

(3) Decrease: decreased (4) Increase; decreased

ST FIHR ST B H9 HT gedt e a I¥ HT a9 e |
(1) &% ; =27 (2) &€l ; aGgT

(3] +HH ; PH (4) 9@ ; &FH

The best indicator of economic development of any country is :

(1] Its agriculture (2} Its transport

(3) Its production (4) Its per capita income
el 291 Ft orddemgedm e gefifa & & 2

(1) @& &t Py (2) " 1 FEaE

(3) TE | FerEd (4) TET FI ufy =afFT amg

Who was the father of "Operation Flood" ?
(1} Dr. Norman Borlaug (2) Dr. M. S. Swaminathan
(3] Dr. Verghese Kurien (4) Dr. William Gande

26
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66,

67.

17P/309/30(i)

“HIRIE TR” B THE o

(1) BT, |99 AT (2) 1. uq. Uq. @niEeEE
(3) 2T affy gftas (4) 21 fafergm o2

First five year plan was based on :

(1} Harrod - Domar Model (2) P. C. Mahalanobis Model
(3) Gadgil formula (4) Solow Model

quq 9EEHig gy omenfia e
(1) M-3R O 93

(2) dI. €. #EaEeE A@Ed 9}
(3) wmsfra wrfer 9T

(4) #Ag H@IET 9T

National Rural Employment Guarantee Programme started in ?

A WHTT TSP ML SBTEHH & JEAT &3 -
(1} 2005 (2) 2006
(3) 2007 (4) 2008

Reserve Bank of India was established an :

(1) tist April, 1935 (2) 1st April, 1936
(3) lstApnl, 1937 (4) 1st April, 1938
rota d9 ofe gfesar ait wmeen g
(1) 1 3%e, 1935 & (2) 1 3Wd, 1936 F
(3) 13, 1937 F (4) 13U, 1938 i
27 P.T.O.
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68. When was new rupec symbol was selected by Union Cabinet ?

69.

70.

(1) July 10, 2010 (2) July 15, 2010
(3) July 10, 2011 (4) July 20, 2014
&gy Bfgaz F = # Tu e & $9 g
(1) ST 10, 2010 (2) S 15,2010
(3) A 10, 2011 (4) SIS 20,2014

Delcit financing implies :

(1) Printing new currency notes

(2) Public revenue in excess of public expenditure
(3) Public expenditure in excess of public revenue

(4} Replacing new currency with worn out currency

¢ F 94y g 9T &l 2o

(1) 3 910 & H&°T 9

(2) WEASAE H TG F GESATHS B AT UT
(3) EESE & =g @t gdeaE ® e 1Y
(4) oTEfed Rl AW T gE § GEdh]

Contribution of agriculture to Gross National Product is approximately ?

(1) 14% (2) 15%
(3} 16.5% (4) 17.5%
Whe wEE IMiE 4, $W &1 fhan avee g B 7
(1) 14% (2) 15%
(3) 16.5% (4) 17.5%
28
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72.

73.

17P/309/30(i)

Swatchh Bharat Abhiyaan was started at -
(1} 2 October, 2013 (2) 2 Ociober, 2014

(3) 2 October, 2011 (4) 2 October, 2015

@B Ad mee # gee g%

(1} 2 aTFeET, 2013 (2) 2 979, 2014
(3) 2 37agET, 2011 (4) 2 IERET, 2015

BIMARU represents :

(1} Poor states (2) Rich states

(3) North - east states (4) Western Region

d. . TH. Q. . g, safdfa e @
(1) T 9 B (2) 3T T @
(3) IWI-Gd U4 Fl (4) df¥=ft &3 &t

The Nobel Prize in Economics Sciences for 2016 was won by :
(1) Jeon Tirole

(2) Fama, Hansen and Shiller

(3} Oliver Hart and Bengt Holmstrom

(4) Angus Deaton

29 P.T.O,
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74.

735.

ad 2016 7 AL T AT A i, TiEe EeR UEE B e

(1) &9 2R

(2) @, B9 Y fEraw

(3) AMRFT 82 AN I BRI
(4) ImE RE

The increase in oil seeds production was due to :
(1) White revolution (2) Yellow revolution

t3) Green revolution (4) Brown revolution

AT & Q41T A9 B I H gl g8
(1) &q F=f=a (2) el i
(3) =& =i (4) & wmfa

Pradhan Mantri Uywala Yojna aims at :

(1} Setting up of 15,000 MW of Grid - Connected Solar PV Power

Project

(2) Efficient lighting programme by distributing LED to households

{3) Providing free LPG connections to Women from BPL

Households

(4] Skill development of individuals to ramp up productivity and

cconomic growth

30
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YATAHHT Jooerell T T o8y & -
(1) 15,000 72T aT¢ T B HT U2 450 =TT FH7=]

(2) T, 9E™ & war g9, ge@! @ afesy gagene gwer demr
AT

(3) AU, arE FB gw ow.f A B Rawer @

(4) S AT B FIT TAHT IEA UF refaen B HwE @
TN

Medium of exchange as definition of money is denoted by :

(1) M, 2) M,
(3} M, (4) M,

Uy %! 9itAT @ @y ¥ g & 9w 5 g9iete a2
(1) M8 (2) M3

(3) M, ¥ 4) M, &

Gilt - edged market means :

(1) Market of government securities
(2) Bullion market

(3) Market dealing with metals

{4) Market dealing with exports

free-u2sr arome &1 o1t ©
(1) &Y @1 M TR (2) A FH TR
(3) U B A O AR_RA  (4) Efa & arr et aeed

31 P.T.O.
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78.

79.

80.

Absolute cost advantage theory was propounded by :

(1} Adam Smith (2) Ricardo
(31 Ohlin (4} Marshall
e @me @1 R @ afeaee B
(1) g% fem = (2) PRepretr =
(3) ahefead 9 (4) =L q

Only factor of production which classical economists considered for
international trade was :

(1) Capital (2) Land

(3) Labour (4) Natural capital

ICET 1 g8 Uh FEO, B 9mel orfaneEy feies s
A & f e mree ¥

(1) it (2) o

(3) =g (4) wrghoes it

According to Heckscher - Ohin theory, labour abundant country will
Import :

(1} Labour intensive product (2} Capital intensive product

(3) Both 1 and 2 (4) Zero import

BFIC-MEf Rt B o, WeR AT § uftsy F ad g
T FHI E

(1) =1 aftsfirs I (2) BT Toft IerEq
(3) 1T 2&Hi (4) HB T TE H!

32
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81. Which of the following organisation promotes free trade ?

(1} UNDP (2} WTO

(3) IMF (4) IFC

PRt & & - W gae AR # gerar 3@ & 7
(1) 3. @3. 3. 4. (2) T=g. #. 3.
(3) E. TH. UE. (4) oTE. uw. .

82. A change in the value from¥50=1$ to 7 55 - 1$ means :

{1} Depreciation of Dollar (2) Appreciation of Dollar
(3) Appreciation of Rupee (4) Depreciation of Rupee
¥S0=13$8 ¥55- 1$ Fma 7 g Jaaa &

(1) BfeT & figae (2) =T # ggEd

(3) &9d q =gl (4) =93 H e

83. The law of reciprocal demand was given by :
(1) Alfred Marshall (2) David Ricardo
(31 J. S. Mili (4) A. P. Learner

TEiE q5 & et & g rr o
(1) TShs Tt (2) 2fae ResEt
(3) . uH. M. (4) ©w. gt F+ .

33 P.7.0.
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84. In which year did the Nalions gathered at Bretton Woods ?

(1) 1942 (2) 1943
(3) 1944 (4) 1945
dteq g2 7 Uiy @i few ad gan ¢
(1) 1942 H (2) 19437
(3) 1944 F (4} 19454

85. GATT was changed to :

(1) IMF (2) WTO

(3] World Bank (4) ADB

. w. &l é‘rasrww%

(1) 9%. T9. 0% (2) T=Y. &. al.
(3) faea &= (4) Q. 2. &,

86. Which of the following paradox represents contradiction to Heckscher
- Ohlin theory ?

(1) Smith paradox (2) Marshall paradox
(3) Leontief paradox (4) Veblen paradox

fﬁwﬁ%ﬁrﬁﬁﬁ,ww-aﬂg%ﬁ%fﬁm%ﬁﬁmﬂmww

(1) o g fTauamyme (2) HIgtE &1 FoareEE
(3) Rramdie & [{huarey (4) d=Ie H1 fEanTE

87. Adm Smith advocated :

(i} Custom duty (2) Quantitative restriction

(31 Qualitative restriction (4) Free trade

34
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BY.
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UgH Y A FEwa qude B

(1) =wHEH 3yl it (2) HEHATHE UH B
(3) TOTHE A% F (4) Had AT &

Balance of payments of a country includes :
(1} Capital account

(2) Current account

(3) Saving and [nvestment account

{4) Both 1 and 2

U AT & YA 1 AT gl €
(1) Ioft @m 4 (2) =g @ o

(3) ==d ud st @ A (4) 10d 23+ #

Exchange rate for currencies is determined by supply and demand ir:
system of :

(1} Fixed exchange rate (2) Flexible

(3) Constant (4) Govt. regulated

e e ® fafme @z, 901 od swufd & & s & St @ 7
(1) ReR RAffTg &7 (2) 3IfReT
(3) Fraa (4) HEHT B FHE g7

35 P.T.0.
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90. A counlry that does not trade with other countries is called an economy :

91.

92.

(1) Open (2) Closed
{3) Independent (4) Dependent

U 29T A1 [l 3 391 | a9 e ea), srefamawen § Fer aan
.

(1i g (2) =<

(3) = (4) =E

Export of goods is called trade in :

(1] Visible goods (2) Invisible goods
{3) Basic goods (4) Real goods
amre ¥ "@Eel & Feta # wsa

(1) e | (2) STHTE FTHF
(3) HA 4= (4) arafas qrEe

IMF represents :

{1) International Monetary Fund
(2) International Money Flow

(3) International Money Forum

(4) International Monetary Finance

Mg, TH. Uk, gefitg FTar §
(1) geTHeEA J9HTH s

(2) ZTEHIEA HA T

(3) FEIAHE W BIH

(4) FIAHA AR HEAE

36
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An industry is selling a product for Rs. 10 per unit. The fixed cost for

assets is Rs. 40,000 with variable cost of Rs. 6 per unit. How manv
units should be produced to break even ?

(1) 8,000 (2) 10,000
(3) 12,000 (4) 14,000

Wh FIA AR @10 %, 9 gfE R A 8, 9

(w=afe) a1 Feifta g79 40,000 9% 2, el @ 6 . ofy gie

Tﬁﬁ,mh@ﬂ%%ﬁﬁaﬁqﬁzaﬁwmm
?

(1} 8,000 (2) 10,000
(3) 12,000 (4) 14,000

What is the sum total of gross value added of all the firms in the
country added with the net factor income from abroad ?

(1) Gross Domestic Product (2) Gross National Product

(3} Net Domestic Product (4) Net National Product

A Bl 29 ) ww A ofk RRe @ g @ s @ S
A, & HA BEa F/qr Enf ?

(1) ST g3 Ieare

(2) 9T T INE

(3) & 9 IR

(4) = i I

37 P.T.O.
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95. Das Kapital, published in German in 1867, was authored by :
(1) Karl Marx (2) John Maynard Keynes

(3) F. Havek (4) Samuclson

1867 ¥ o1  wepifarg “arq fEw” B aEH €
(1) e = (2) o "EEE &
(3) U%. BUE, (4) TS

96. Which among the following statements is incorrect ?

(1) Coefficient of correlation can be computed directly from the

data without measuring deviation.

(2] Measure of Dispersion are also called averages of the second

order.
(3) Standard deviation can be negative.

(4) Mean deviation can never be negative.

Frefaftaa & Fa-91 F2m 99d 8

(1) Bl T § e aqad & Ge-wRERT $ YOS @l T F
AT FHAT T |

(21 Tfer @ offeer =t [Edd 9 & ShEd Hed € |

(3] WS e TeeTE ef Gehal ¢ |

(4) weHH e Fofl EeTE Aél 8 @l e

38
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97. One of the methods to find out Mode is :

98.

99.

(1) Mode = 3 Median + 2 Mean (2} Mode = 3 Median - 3 Mean
(3) Mode = 2 Median - 3 Mean (4] Mode = 3 Median - 2 Mean

HIE 19 &9 3 uF {fy &
(1) "8 =3 ffEga +2 A
(2) #As =3 Mifegs -3 @
(3) " =2 fafggq -3 4+
(4) #HI? =3 fafsgg -2 @

A sum of money amounts to Rs. 1352 in two years at 4% per annum

of compound interest. The sum is :

4% YRS AT B G d & A9 F o |, 1352 F AqwdAF 579
&4

(1) 71,250 (2) %1,220

(3) 1,260 (4) ¥ 1,200

Tickets numbered 1 to 20 are mixed up and then a ticket is drawn at
random. What is the probability that the ticket drawn has a number

which is a multiple of 3 or 5 ?

e @egr 1 & 2091 faem 3 @ TEd A oF ez 3 T W B
ST & o wigEar &nft, S 331 5 e

(1) 172 (2] 2/5
(3) 9/20 (4) 11/20

46 P.T.O.
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100.What is the probability of getting a sum 9 from two throws of a less

dice ?

OOt B Bh A 9T AT T U 3pT B wied 97 9 A &
ofarepar BPfl -

(1) 1/6 (2) 1/8

(3) 1/9 4) 1/12

101. A sum fetched a total simple interest of T. 4016.25 at the rate of 9
p.c.p.a. in O ycars, What 1s the sum ?

4016.253 & 9% HERT &S i a9 & T H 5 g9 7 FT dHHa &0
erfl 7

(1) 74,462.50 (2) ¥ 8,925

(3] 78,900 (4) %9,122

102.Two students appeared at an examination. One of them secured 9
marks more than the other and his marks was 56% of the sum of
their marks. The marks obtained by them are :

o i | 9 faenfeiat 9 o9mr feEn ) o faeft A gat faand 8
9 E aE AT @7 R IaH J/IT b F 56% HH G FAT
e, I ITH BRT YT $HiFH BAM

(1] 39,30 (2) 41, 32
(3) 42, 33 (4) 43, 34

103.A {ruit seller had some apples. He sells 40% apples and still has 420
apples. Originally, he had ;

(1) 588 apples (2) 600 apples

(3] 672 apples (4} 700 apples

40
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%wm%wwﬁa%mﬁw%ﬁaaﬁfﬁ,mﬁq
W IWE U 420 §9 A9 R, F@ AT A wear A

(1) 588 @9 (2) 600 @«

3) 67289 (4) 700 99

104.What is a, ifB=[1 4:[
2 a

Is a singular matrix ?

i B__Fl 4]

Lzﬂ

&, @ e Aftes % a &7 |19 Far e ?
(1} S 2) 6 (3) 7 (4) 8

(1-3-4]
105.Find the determinant of the matrix: A=(2 1 0
3-25

e

e & 9= s Fifg

1=3-4]
A=|21 0

[3-2 5 |
(1) 23 (2} 63
(3) 45 (4) 58

41 P.T.O.
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| caa|108 0-10 1 -4
= + C - 14 = B =
106.Find A-B + C if: |4 -8 & -0 2 7]

A-B+C % 9F wE @i, afE

_ 3 1-4
A [F105 ,B__Wc_: 10|

4 -8 6 -9 2 7

<$1 31 -11 1
(1) 0 -24 (2) 8 -24

i-1119] -9 11
B | 4 ¢ * o s

107.How much time will it take for an amount of T 450 to yield ¥ 81 as
interest at 4.5% per annum of simple interest ?

(1) 3 years (2) 3.Syears (3) 4 years {4) 4.5 years

4501 & 812 ©F # fhawr 999 @, afE waRe &9 27
4.5% aifd=s & af ?

(1) 344 (2) 3.5T9 (3) 4ag (4) 4.5a9

108.A lent ¥ 5,000 to B for 2 years and T 3,000 to C for 4 years on simple
interest at the same rate of interest and received T 2,200 in all from
both of them as interest. The rate of interest per annum is .

AS B @ 50002299 & faw ud CHl 3,000% 4 91 & o, THEAE
qraeT =T 3¢ 9 24, afE A DR § 22003 =S & w9 H AT
FHOAl &, o &N Fr or gfead anft -

(1) 10% (2)  6.5% (3] 7% (4) 8%

42
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109. Differentiate the following equation ff{x?=‘:‘§ "—35
X
Frferfiga wdimcer & AT &1 -
x? 3
f(x) ‘-E-—;F W‘]T F‘d@‘
3 6
o= B8 3 e
(1) fx) 3 S LR
2X 6 23{ 5
f(x) = =~ — 5 oy
3) flx)= -~ e e Tv s

110. Which of the following is the indefinite integral of x2 + 7 ?

MR & & P9 x2+7 F1 IfAfd=s avrses &

(1) 2x+C (2) x*+7x+C
(3) %33+?x+C (4) %-x"’+?x+C

111. If arithmetic mean is 12 and number of observations are 25 then sum
of all values is -

32 el Hea 1 i e 12 8t qun Sud mm 25 g
SuRtga &, @ gt deaelt & A et en L

(1) 8 (2) 32 (3) 240 (4) 300
112. Mean or average used to measure central tendency is called :
(1) Sample mean (2) Arithmetic mean
(3} Negative mean (4) Population mean

qmﬁmaﬂ'ﬂﬁmmﬁammmﬁ%%&mﬁ?.
T FEd ©

(1) ETEHROT HegHTT (2) ARV AegET
(3)  TRRIHS T (4) HEERHESH qHEHN

43 P.T.O.
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113. Given the following set of data, what is the range ?
g 72 zrer § § 39, 9 el
[12 23 34 54 21 8 9 67]

(1] 25 (2) 59 3) 8 (4) 56

114.1n a box, there are 8 red, 7 blue and 6 green balls. One ball is picked
up randomly. What is the probability that it is neither red nor green ?

ueh dlepd B 8 T, 76 U 6 84 R ¥ | aft fRelt uss e @ STAh
TA AQ A, @ AT B AT A AW H Arafhenal F4 FAaET P 7

(1) 1/3 (2) 3/4 (3) 7/19 (4] 8/21

115. What is the shape of normal distribution curve 7
(1} Concave (2) Convex

(3) Bell shaped (4) Parabolic

AIH-Y fASOT g% &7 IR &1 B8 2
(1) aEas (2) Iad
(3) 992 & I (4) 9LEAEE

116. When was "Make in India” initiated ?
(1) 23 September, 2013 (2) 25 September, 2014
(3} 25 September, 2015 (4} 23 September, 2014

‘T g gfed’ &9 9FE gIn 7
(1) 23 f&a=T, 2013 (2) 25 Fga=y, 2014
(3] 25 [BdmET, 2015 (4) 23 Ma=e, 2014
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117. What do you mean by mixed economy ?

1) B ' ' '
(1) Slgilg agriculture and industry are equally promoted by the

(2] There is co-existence of public sector along with private sector

(3) There is importance of s : : 5
industries P mall scale industries along with heavy

(4} Economy is controlled by military as well as civilian leaders

Ff¥a srederaeen @ oy 97 gued ¥ 2

(1) @ﬁaﬂ?%ﬁgﬁfﬁwﬂmwwmamrﬁmw%
(2) At &=t qer B &St @ ge-siftaa o @

B) A2 Al & Ay BT It F N wew Ry s @

(4) Ffemawn H A g Jareli arr EiRE Brar s 1

118. A rolling plan is a plan for :
(1) One year (2) Three years
(3) Two years (4) Five years
“ uF AR AT G Bdr B
(1) % |19 & (g
2) o9 @ & R

(3) = 99 & B
(4) d91a 99 & oy

119. Who is the current Governor of RBI ?

(1) Raghuram Rajan (2) Y. V. Reddy
(3) Uit Patel (4) D. Dubbarao
R..HE. & gaqE 9d97 & ?
(1) T T (2) aE. 4. g
(3) 3R vew (4) . g=E
45 P.T.O.
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120..Jan - Dhan Yojana is targeted towards :

(1) Financial exclusion (2} Women education

(3) Skill development (4) Financial inclusion

-9 A BE A e

(1) fafE omwgs= (2) wfeer farm

(3) e s (4) faeig gwEs™
46
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ROUGH WORK
% &

a7 P.T.O.
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12.
13.
14.

Feiga & fom e
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